INSTALLATION PT-SPL-600-3P-50K P o R T@ R
INSTRUCTIONS Sports Light w/ Wattage Selector LT GHTING

a PORTOR INDUSTRY brand

' L (<l RISK OF ELECTRIC SHOCK

READ THESE INSTRUCTIONS COMPLETELY AND CAREFULLY

* THE FIXTURE SHOULD BE INSTALLED, INSPECTED AND MAINTAINED BY A QUALIFIED ELECTRICIAN/
CONTRACTOR IN ACCORDANCE WITH NEC & SAFETY REGULATIONS.

* MAKE SURE THE POWER IS TURNED OFF BEFORE INSTALLING, TROUBLESHOOTING OR REMOVING THE LIGHT
FIXTURE FROM ITS MOUNTED LOCATION.

+ ENSURE THAT THE VOLTAGE USED IS THE VOLTAGE WITHIN THE PRODUCT IDENTIFICATION RANGE.

+ USE WIRES THAT COMPLY WITH UL (OR OTHER LOCAL STANDARDS) FOR WIRING. SHOULD BE WIRED WITH A
MINIMUM CONDUCTOR SIZE OF 16AWG.

+ DO NOT INSTALL THE FIXTURE IN A HAZARDOUS ENVIRONMENT. THE AMBIENT TEMPERATURE MUST NOT
EXCEED THE RATED OPERATING TEMPERATURE OF THE FIXTURE.

+ DO NOT INSTALL THE FIXTURE IN WET OR EXCESSIVELY HUMID CONDITIONS AND AVOID INSTALLATION
WHEN THE DANGER OF LIGHTNING STRIKES IS PRESENT.

+ PLEASE USE WITH LISTED WATERPROOF STRAIN RELIEF BUSHING WHEN CONNECTING THE POWER SUPPLY
CORD TO OUTLET BOX.

+ DO NOT OPERATE FIXTURES ON ELECTRIC GENERATOR.

* EXTERNAL 0-1 0V ONLY PASSIVE DIMMERS ARE SUPPORTED.

400W - 500W - 600W

SELECTOR

WIRING DIAGRAM

Purple: Dim+

Pink: Dim- Notice: Please use the dimming+, dimming - (DC 10V) marking leads to connect to outside dimmer.
Black/Brown:ACL Class 1 Wiring Only.

A Please assure a cumulative leakage current of less than 3.5mA on the control circuit.
The AUX control wire with shrinkable tubing shall not be damaged (no connection).

INSTALLATION (ALWAYS TURN OFF THE POWER SUPPLY FROM MAIN CIRCUIT BREAKER FIRST!)

EASILY FLIP THE SWITCH FOR DESIRED WATTAGE BEFORE INSTALLATION: MOUNTING OPTIONS (SOLD SEPARATELY)
THE FIXTURE COMES FACTORY SET TO 600W OUTPUT. ——

To adjust the wattage of the fixture,
remove the plug from the back of the
fixture and change the position of the
selector switch to the desired wattage
per the lighting design. Reinstall the plug
into the back of the fixture and tighten to
ensure the fixture housing is sealed.

U-BRACKET (UB): Mounting and Aiming Instructions *’%’7\4////////(@ Eimzs:hz
- You can install the fixture on the crossarm diving board and secure it with: ‘\\ Nut

- (1) 3/4" diameter bolt/nut, flat washers & lock washer kit

- (1) 3/8" aiming lock bolt/nut, flat washers & lock washer kit. (Figure 1) FIGURE 1

3/4"Bolt Kit 3/8"Bolt Kit

Set the left/right orientation by loosening the 3/4" & 3/8" bolts in the base of the
Yoke Mount Bracket and turning the fixture as required then re torque the bolts to
59.1 ft. Ibs. (Figure 2)

Set the up/down orientation by loosening the (2) bolts on each side of the
fixture where the yoke mount attaches to the fixture and rotate the fixture up
or down then re torque the bolts to 22.2 ft. Ibs. (Figure 3)

- An aiming laser/level may be supplied in certain applications.

o (]
=4 “ N 2
a |
FIGURE 2 FIGURE 3
PORT R www.portorlighting.com Specification subject to change without notice 1/2
LI GHTING



INSTALLATION PT-SPL-600-3P-50K P o R T@ R
INSTRUCTIONS Sports Light w/ Wattage Selector LT GHTING

a PORTOR INDUSTRY brand
INSTALLATION (CONTINUATION)

- This system comes with the Knuckle Mount premounted to crossarms with the left/right & up/down aiming already set according to the lighting design requirements.
- After the fixture head is completely seated on the Knuckle Mount install the 2 lock bolts in the base of the fixture and torque the bolts to 11.07 ft. Ibs.

KNUCKLE MOUNT (KM): Mounting and Aiming Instructions

Attach the KM bracket to the fixture with 4 bolts by aligning it with the
opening at the bottom of the fixture. (Figure 4)

You can install the fixture on the crossarm diving board and secure it with:
(1) M10 diameter bolt/nut, flat washers& lock washer kit. (Figure 5)
Install the fixture head onto the Knuckle Mount by aligning the studs on
the mount with the opening in the bottom of the fixture. (Figure 5)

LE;;;:;T—EEE-T-:T_Ji-’

Set the left/right orientation by
loosening the (2) bolts in the base

Set the up/down orientation by
loosening the bolts in the knuckle of
of the KM and turning the base then the Universal Mount and turning the
re torque the bolts to 22.2 ft. Ibs. knuckle then retorque the bolts to
(Figure 6) . 36.9ft Ibs. (Figure 7)

FIGURE 6 FIGURE 7

SLIPFITTER (SF): Mounting and Aiming Instructions

1: Loosen the four bolts on SF bracket, connect the wires correctly, and pull the wires into the poles. (Figure 8)

2: Place the bracket into the pole and lock the four bolts. (Figure 9)

3. Use an open-end wrench and hex wrench to loosen the adjusting screw for adjusting the angle (Figure 10) Notice: Adjustable angle is 0-90°.

5

FIGURE 8 &9

FIGURE 10

INSTALLATION INSTRUCTIONS FOR LOUVER: (Sold separately) INSTALLATION INSTRUCTIONS FOR VISOR: (Sold separately)
If the louver is not factory installed : ' ; When the light shield function
already, attach the louver to the face L ' is required. Fix the light
of the light fixture using the bolts I I’ . Darrier to the luminaire with
provided. (Figure 11) —— . ascrewdriver as required.
(Figure 12)
FIGURE 11 FIGURE 12

PORT

R www.portorlighting.com Specification subject to change without notice 2/2
I G G

I N



